BUSINESS MATHEMATICS

Assignment 6 – Supplementary Worksheet 2
Complete the following chart:

	
	Cost
	Markup
	Selling Price
	Rate of Markup Based on Cost
	Rate of Markup Based on Selling Price

	(1)  


	
	$32
	$89


	
	

	(2)


	$1.56
	
	$2.00
	
	

	(3)


	
	$27.38
	
	40%
	

	(4)


	
	
	$124
	150%
	

	(5)


	
	
	$18.95
	
	15%


II.  Answer the following:

(1)  Dick McDowell operates a fruit and vegetable stand.  He purchases 800 pounds of potatoes at a cost of $0.18 per pound.  If he anticipates a spoilage rate of 20% of the potatoes and he wishes to make a profit of 140% based on cost, how much must he sell the potatoes for per pound?

(2)  Maria Diaz received a shipment of oranges that was shipped after a severe frost and she expects losses to be high.  She paid $0.26 per pound for the 500 pounds and expects to lose 35% of the oranges.  If she wishes to make 125% based on cost, find the selling price per pound.

